Section A(1)

1. In Figure 1, draw the reflection image of APQR with respect to L and label the coordinates of the
reflection images of P, Q and R withrespectto L.

(4 marks)
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2. John wants to buy the following items in a supermarket:
Item Unit price Quantity

A $10.6 3
B $23.2 2
C $30.8 1

(a) By correcting the unit price of each item to the nearest dollar, estimate the total amount he should
pay.
(b)  Find the percentage error of the estimation.
(5 marks)
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Section A(2)

3. Figure 2 shows the box-and-whisker diagram for temperatures of water (in

°C) obtained in an experiment
under various experimental settings.
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Figure 2
(a)  Find the median of the temperatures. (1 mark)
(b)  Find the range and inter-quartile range of the temperatures. (4 marks)
(c)  Describe the distribution of the temperatures. (2 marks)
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4. Figure 3 shows a sequence of pictures of black and white dots. The 1st picture consists of 1 white dot. If
n is even, the nth picture is formed by adding a row of » black dots to the (» — 1)th picture. If » is odd,
the nth picture is formed by adding a row of » white dots to the (n — 1)th picture ( » is an integer greater

than 1 ).
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Figure 3

(a) Complete the following table.

Number of white dots Number of black dots
1st picture 1 0
2nd picture 1 2
3rd picture 4 2
4th picture
5th picture
6th picture

(3 marks)

O Write down the numbers of white dots in the (2n — 1)th picture and the (2n)th picture.
(ii) A student says that the sum of the numbers of white dots in the (2n — 1)th picture and the
(2n)th picture is the same as that of the black dots. Is the student correct? Explain your
answer.

(5 marks)
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SECTION B

5.

In Figure 4, I is the in-centre of AOAB .
(a)

Let the radius of the inscribed circle be » . Define
s= a+b+c

,where a=0A4 ,b=0B and ¢= 4B .
(@)

Express the area of AOA/l in terms of a and r
only.
(i)

Using Heron’s formula, prove that

. \/(s —a)(s—b)s-c)
s

\
\
(4 marks) \
i
(b) A rectangular coordinate system is introduced in
Figure 4 so that the coordinates of O, 4 and B are
(0,0),(3, 0) and (0, 4) respectively.
A
0 -
(i)  Find the equation of the inscribed circle. Figure 4
(ii)  Are the in-centre, orthocentre and circumcentre of AO4B collinear? Explain your answer.
(7 marks)
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2006 CE Mathematics Sample Questions

Numerical Answers

Section A(1)
2. (a) $110

(b) 0917%

Section A(2)
3. (a) 27.5°C

(b) Range=8°C
Inter-quartile range = 2.5°C

4, (a)
Number of white dots Number of black dots
4th picture 4 6
5th picture 9 6
6th picture 9 12

(b) (i) The number of white dots in the (27 — 1)th picture = n’
The number of white dots in the (2#)th picture = n?

Section B

® ()  xP+yr-2x-2y+1=0
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5. W4t IS AOAB BIRL °
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